
20 40 60 80 100 120 140

−
2

0
2

4

Cluster: 0206 ptr; resid: 0.26; r/c: 29/83

x.range

upstream meme PSSM #1; e=7.4e−10

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=1.5e−11

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16
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33500

35355

37408

37714

37761
38156

38979

39006

39076

39360

39509

39885
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41582
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48356

49758

49959

50643

52461

−500 −400 −300 −200 −100 −1
39906−0.03
50643−0.04
49758−0.06
39509−0.07
52461−0.08
44269−0.08
39885−0.10
40608−0.10
39006−0.13
40431−0.16
39360−0.25
40625−0.32
37761−0.37
40038−0.41
35355−0.52
37714−0.52
49959−0.79
48356−0.83
41578−0.87
33500−0.95
47869−1.37
41458−1.70
38156−4.34
41582−4.91
38979−14.37
39076−14.37
40611−16.93
40624−17.01
37408−18.55

log10(P) upstream meme1 2 log10(P.clust)=−3.46; 29 seqs; 29 uniq
c(0.5, 2.5)
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